Unit 6

Slope and Rate of Change
ALGEBRA 1




Slope

* Change in y over change in x

* Rate of Change y 2 — y 1
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run(right) x N x
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Where (x1,y;) and (x3,¥>)
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Wheny = #, the slope is 0. The graph is a
~horizontal line ( Left and Right )
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When x = #, the slope is UNDEFINED and
phe line is vertical ( up and down)
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Time (rmwrsites )

The graph shows the altitude. 8, of a plane, in feet, after f minutea. What is the rate of ascent of the
airplane?

A. 120 feet per minute k o
@ 125 feet per minute E‘_C__ : go } 2 g_
Mrnwieg

€. 175 feet per minute

D. 150 feet per minute
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Unit 6

Graph Using Intercepts, Slope-Intercept,

and Point-Slope Form
ALGEBRA 1
b- beyn
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Point-Slope Form
(y—yy) =m(x—x)
are given.

Slope-Intercept Form
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y = # the graph is horizontal

x = # the graph is vertical
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x=5 1 y=-8




Unit 6

Standard Form
ALGEBRA 1

2.Set x ¥ 0 to solve
| for y-intercept.

\

ety .l...nc\\ .lll..l..!s._.
|
e sy ,
i T =120 %, 240
t ¥ | ke —=
| 13
v\u s

(s,15) (o2




Z. .ﬂ:_.?w of Lt._:s_v ?ﬁ.wm__ v ..x\N.x_v
> %ich <u3wi
[y <.._ y A 1S 3N+w«\\ml

Standard Form: Ax + By =C
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Unit 6
Interpreting Functions
ALGEBRA 1
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